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DIPLOMA IN WATERSHED MANAGEMENT 
(DWM) 

Term-End Examination 

June, 2013 

BNRI-103 : SOIL AND WATER CONSERVATION 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt any five questions. Use of calculator is 

permitted. 

	

1. 	(a) What is water erosion ? List different forms 1+4 

of water erosion. 

(b) Explain gully erosion. Classify gully based 2+3 

on gully depth and drainage area. 

	

2. 	(a) What are different factors influencing water 	3 
erosion? Express it in the form of an 

equation. 

(b) List main topographic features influencing 	3 
water erosion. 

(c) Enumerate major benefits of good 	4 
vegetative cover. 

	

3. 	(a) Write the Universal soil loss equation. Define 	5 

different terms of equation. 

(b) Enumerate five major indicators of water 	5  

erosion. 

BNRI-103 	 1 	 P.T.O. 



	

4. 	(a) Define wind erosion and enumerate its 1+4 

resulting harmful effects. 

(b) Explain the movement of soil particles 	5 

during transportation process of wind 

erosion with the help of a schematic 

diagram. 

	

5. 	(a) Explain with a schematic diagram the 	5 

process of formation of sand dunes. 

(b) Define the following 	 5x1=5 
(i) Erosivity 

(ii) Sediment yield 

(iii) Threshold velocity 

(iv) Depression storage 

(v) Aquifer 

	

6. 	(a) What are the main control measures for 

erosion hazards? What do you understand 

by biological measures for controlling soil 

erosion? List different biological measures. 1+1+3 

(b) What do you understand by bunding ? List 1+1 
different types of bunds. 

(c) Compute vertical and horizontal interval of 3 

contour bunds for land having 4% slope ? 

	

7. 	(a) Distinguish between arable and non-arable 2+1 

lands. How much is the extent of area 

covering non-arable land in India ? 
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(b) What do you mean by drainage line 	2 

treatment ? 

(c) Explain the concept of vegetative measures 2+3 

for controlling wind erosion. How does 

shelter belt help in controlling wind 

erosion ? 

8. 	(a) Explain the criteria for deciding the storage 
	

2 
capacity of a water harvesting structure. 

(b) Enumerate the considerations for selection 
	3 

of a particular water storage structure. 

(c) What do you understand by groundwater 2+3 

recharge ? Explain its importance. 

BNRI-103 	 3 	 P.T.O. 



\rm 4147 V41,T9 1Wr5 kcei) 	 ( 	 ) 

fl 	Iid "crftaTT 

171, 2013 

-q1-.79'.3TTL3T11.-103 :   7:It8TUT 

TITRT : 2 ue 
	

dH 3.7'W : 50 

e : 	 v771. 	drH 	/ 	c-.17 	7:1-777 

e I 

1. (a) 	,3-1(4- 311:17l A 3T17 14--11 TP:17a ? 	3-itR- 9 1+4 

	

rafim 	11 

(b) 	 3i2.1 TcrIEZ 	I itc-n ch1 	 2+3 

3A-T Fti-d41 0-q -ER 3-74rf-Tu 1101 .T-r coil* 	ul 

f I  

2. (a) 	\ (.4 - 	31.-TTfq 	 fdfl-W1 ohlZch 	3 

-49 A 	? 	 tc0-1 14 	061 I tc.e--1 	I 

I 

(b) "•)'';11.T1F-4ff" 	 P-1-07-4-4 	3 

31fITITiff chl 	ci 	 I 

(c) (1 I --I 	3TT-- 51T1 A 	 q1 9171 OA 	4 
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3. 	(a) 	FcRc10111-11 I- q1 	 facer 	iffN7 I 	5 
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-174cI 4 1 c-RI cic11 
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5. 	(a) 	31.1trUd 	_qiroti=1 	TIT21 air \ 	151-F11 	5 
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(b) 	f91;:i c4-) 	: 	 5x1=5 
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(ii) 31-q741--  377 
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(iv) It.--1 4-11-1 

(v) 7qz117-{ 
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1+1+3 
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(b) -4fg11 	3Th 	I 	%? .11-M •51-17as 1+1 

cf;) 	-q-ITT I 

(c) 747 	Gc11.1 	% u t 	 3 
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7. 	(a) ttf-trzT 3 	7--VE1 trzt 01.4 1-611 3-1--. 7t? 2+1 

11-1 14 ilt-TFEI 41+4 lifit f*--dt t? 

(b) 	k-ur 34-c11( 	3T  	t? 	2 
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owsii 
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-1-1--A-R I 
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Tcr-F 
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